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Chapter 2 Hyperbolic Functions

Activity ©

Find the values of x for which
13
cosh x = =
3

expressing your answers as natural logarithms.

Example

Solve the equation
3&\ 2cosh2x+10sinh2x =5

giving your answer in terms of a natural logarithm,

Solution

1 ) - . l o P 3
cosh2x= ——(e“‘ +e¢ 2‘“); sinh 2x = —(62“ —¢ 2“)
2 D

2 Iy L x ~2x

SO e Fe Tt H 50 5 =5
;Y e
Ge™' ~5—4e™ =0

6e* —5¢* —4=0

e v 9 Py
T'he only real solution occurs when ¢*" >0

So 25=In “: = e e

203

Exercise 2B

L. Given that sinhy = 5 find the values of
(1) coshy {b) tanhx {c) sechy
{d} cothx {e) sinh2x {1} cosh2x
Determine the value of v as a natural logarithm.
\
38

I

Ciiven that coshx = i determine the values of

{a) sinhx {b} cosh2x {¢) sinh2x

Use the formula for cosh{2x+x) to determine the
value of cosh3x.
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